Lecture 33 DT (GW (GV invoriants for local P2 B= ELI & B= 2ELI X = total (O(-3) -> P2) $Z_{\beta}^{DT}(x) = \Sigma_{1}^{T} N_{\beta,n}^{PT}(x) (-g)^{n}$ = Z e(I. (5,6), V) (-8)" value of Bohrand forc on soros fixed points $[I_2] \in \mathbf{I}_n(\mathbf{x}, \boldsymbol{\beta})^T$ is $(-1)^{c(\boldsymbol{\beta}) + n}$ = Z (-1) (1) # { In (x,p) } (-g) $= \pm \sum_{n=1}^{\infty} \# \{T_n(X,\beta)^T\} g^n$ $Z_{[1-]}^{p_{T}} = \pm 3 V_{p \neq 0}^{2} (g) \cdot V_{p \neq p} (g) \cdot g^{\chi(O_{L})}$ V ++++ = M(8) = TT (1-9")" $V_{\phi\phi 0} = M(g) \frac{1}{1-g}$ 3 different places for line $Z_{[i]} = \pm 3 \text{ M(s)}^3 \frac{1}{(1-8)^2} g^4 = \pm 3g \pm O(g^2)$ $I_{1}(X, [L]) = \mathbb{R}^{2}$ so $N_{i, [L]} = e_{Vir}(\mathbb{R}^{2}) = 3$ so $Z_{[L]} = -3 M(p)^3 \frac{1}{(1-p)^2}$ Recall $Z'_p = \frac{2p}{Z_0}$ so $Z'_{[L]} = \frac{-3p}{(1-p)^2}$



 $=\pm\left(\begin{array}{ccc}2\\3V_{\phi\phi\Xi}&V_{\phiD\Xi}&g^{\chi(\phi_{c})+1}\\+3V_{\phi\phi\Xi}^{2}&V_{\phi\phi\phi}\left(\begin{array}{c}g^{\chi(\theta_{c_{c}})}+g^{\chi(\theta_{c_{s}})}\\0\end{array}\right)\right)$ $V_{\phi\phi\phi} = V_{\phi\phi\phi} \frac{1}{1-g} \qquad V_{\phi\phi\phi} = V_{\phi\phi\phi} \left(\frac{g}{1} + \frac{1}{(1-g)^2}\right) \qquad V_{\phi\phi\phi} = V_{\phi\phi\phi} \frac{1}{(1-g)(1-g^2)}$ $\chi(O_{C_1}) = \chi(O_{C_2}) = 1$ since $G_1, G_2 \subset \mathbb{R}^2 \subset \chi$ consider so have $\chi = 1$ by adjunction we will see how to comparts $\chi(Q_{cs})$ later $\chi(Q_{cs}) = 5$ $Z_{2[1]} = \pm 3 M(0)^{3} \left(\frac{1}{(1-s)^{2}} \left(s^{-1} + \frac{1}{(1-s)^{2}} \right) g^{2} + \frac{g + g^{3}}{(1-s)^{2} (1-s^{2})^{2}} \right)$ $Z_{2lu1}^{\prime} = \pm 3 \frac{3}{(1-g)^{2}} \left[1 + \frac{3}{(1-g)^{2}} + \frac{1+g^{\prime}}{(1-g^{2})^{2}} \right] \xrightarrow{a} \frac{1}{g} \xrightarrow{b} g^{\prime} \approx \frac{1}{2} \frac{1}{g} \frac$

 $Z_{2[L]} = \pm 3 \left(8 \pm 0(s^{2}) \right) \left(1 \pm 8 \pm 0(s^{2}) \pm 1 \pm 0(s^{2}) \right) M(s)^{3} = \pm 6 \left(8 \pm 0(s^{2}) \right)$ 50 $\pm 6 = -N_{1,2L1} = -e_{vir}(I_1(X,2L1)) = -e_{vir}(P^5) = -(-6) = +6$

 $Z'_{2[1]} = 3 \frac{3}{(1-3)^2} \left[1 + \frac{3}{(1-3)^2} + \frac{1+5^4}{(1-3^2)^2} \right]$

Digression on how to compute $\chi(O_{C_{\lambda}})$ Let $X = -t_0 + \left(\mathcal{O}_{\mathbb{R}^1}(-m_1) \oplus \mathcal{O}_{\mathbb{R}^1}(-m_2) \right) \qquad m_1 + m_2 = 2 \qquad \left(\text{ in our case } m_1 = 1 \\ m_2 = -3 \end{array} \right)$ Let Cy be the pure dim'l I subscheme of X (no embedded points) which is T invariant and restricted to the fibers of X To P' is the monomial subscheme & C2 given by A. Xi is coordinate on the filers of Ol-mi) $\lambda = (5, 5, 2, 1, 1) \quad \lambda^{\pm} = (5, 3, 2, 2, 2)$ $C_{\lambda} \quad \text{restricted to fiber is cast not by} \\ + \begin{pmatrix} x_{2}^{2}, x_{1}^{2}x_{2}^{2}, x_{1}^{3}x_{2}, x_{1}^{5} \end{pmatrix}$ ኢ To compute $\chi(O_{C_{\lambda}})$ we comparise $\chi(\pi_{*}O_{C_{\lambda}})$ [In general, for $f: V \rightarrow W$ $G = sheef = V, \qquad \sum_{k} (-1)^{k} dim H^{k}(V, f) = \sum_{i,j} (-1)^{i+j} dim H^{i}(W, R^{j}f_{r}f_{r}f_{r}),$ since $\mathbb{R}^{j}_{\pi} \partial_{\mathcal{C}_{\mu}} = 0$ for j > 0, $\chi(\partial_{\mathcal{C}_{\mu}}) = \chi(\pi_{\pi} \partial_{\mathcal{C}_{\mu}}) \int$ Tx Ocn is a bundle of rock I l m R'. If E is a vector space then 3 course elts 3. E^V are liner directions on E and hence Symⁿ E^V are hargeneous degree n polynomial finations. If $E \xrightarrow{\pi} Y$ is a number bundle then sections of Sym" E' are polynamial functions on the fibers of T. So for E=O(-m.)@O(-m.), the monomial $X_1^i X_2^j$ is a section of $O(\mathbf{m}_1)^{\otimes i} = O_{\mathbf{m}_1}(i\mathbf{m}_1 + j\mathbf{m}_2)$

 $\ln \text{ our case } \mathbf{M}_{1} = -1 \quad \mathbf{M}_{2} = 3 \quad \lambda = (2) \quad \lambda' = (1, 1)$ or &= (1,1) ×= (2) so $\chi(Q_{c_{\text{B}}}) = \begin{cases} 2 - 1 + 0 \\ 2 + 0 + 3 \end{cases} = 1 \text{ or } 5$ Lecture 34] $Z'_{DT}(x) = 1 - \frac{38}{(1-8)^2} V + \frac{38}{(1-8)^2} \left[1 + \frac{8}{(1-8)^2} + \frac{1+8^2}{(1-8^2)^2} \right] V^2 + O(u^3)$ We are love with geometry, we now can use DT/GW and GV formula to determine GW and GV invariants. Non-trivial formula mangering. $Z'_{DT} = CKp \left(F'_{GN}\right) = OKp \left\{ \begin{array}{c} Z' \\ g^{30} \\ g^{40} \end{array} \right. \begin{array}{c} V^{KB} \\ F_{K} \end{array} \left(2\sin\frac{K\lambda}{2}\right)^{2g-2} \\ g^{30} \\ F^{40} \end{array} \right\}$

 $Z_{DT}^{l} = U_{KP} \left\{ \sum_{g_{i}}^{l} n_{g_{i}}^{R} \frac{V^{K\beta}}{K} (-1)^{g_{i}} \left(\frac{g^{K}}{(1-g^{K})^{2}} \right)^{l-g} \right\}$

We want Mg, JELJ (X) for d=1 = 2 X= total (U(-3)-+ R2)

 $Z'_{DT}(X) = I - \frac{38}{(1-8)^2} V + \frac{38}{(1-8)^2} \left[1 + \frac{8}{(1-8)^2} + \frac{1+8^4}{(1-8^2)^2} \right] V^2 + O(u^3)$

 $Z_{DT}^{1}(\chi) = \exp \left\{ \begin{array}{c} \sum_{q,z_{0}}^{1} & n_{q,\beta} & \frac{V^{k\beta}}{\kappa} & (-1)^{q-1} \left(\frac{q^{k}}{(1-q^{k})^{2}} \right)^{1-2} \right\}$

 $Z_{OT}'(x) = exp(c_1v + c_2v^2 + \cdots) = 1 + c_1v + (c_2 + \frac{1}{2}c_1^2)v^2 + \cdots$

 $C_{1} = \sum_{\substack{j \neq 0 \\ j \neq 0}} n_{3} (L_{1} (-1)^{3^{-1}} \left(\frac{s}{(1-s)^{2}} \right)^{1-s}$ $C_{2} = \sum_{\substack{j \neq 0 \\ j \neq 0}} n_{3} (L_{1} (-1)^{3^{-1}} \frac{1}{2} \left[\frac{s}{(1-s^{2})^{2}} \right]^{1-s} + \sum_{\substack{j \neq 0 \\ j \neq 0}} n_{3} (L_{1} (-1)^{3^{-1}} \frac{1}{2} \left[\frac{s}{(1-s^{2})^{2}} \right]^{1-s}$

 $\frac{v^{1} \text{ term} : \frac{-38}{(1-8)^{2}} = \frac{2}{3} n_{3}, E_{1} \frac{(-1)^{3}}{(1-8)^{2}} \left(\frac{3}{(1-8)^{2}}\right)^{1-3}$ => $n_{3}, E_{1} = \begin{cases} 3 = 0 \\ 0 = 3^{2}0 \end{cases}$

 $\frac{3_{8}}{(1-g)^{2}} \left(1 + \frac{3}{(1-g)^{2}} + \frac{1+g^{4}}{(1-g^{2})^{2}}\right) = \frac{1}{2}c_{1}^{2} + c_{2} = \frac{7}{2}\frac{5}{(1-g)^{4}} + -\frac{3}{2}\frac{5^{2}}{(1-g^{2})^{2}} + \frac{5}{2}\frac{1}{(1-g^{2})^{2}} + \frac{5}{2}\frac{1}{(1-g^{2})^{2}}\right)^{1/3}$

 $\sum_{s} N_{3,2(L)} (1)^{s+1} \left(\frac{3}{(1-s)^2} \right)^{1-3} = \frac{3s}{(1-s)^2} \cdot \left\{ 1 + \frac{1}{(1-s)^2} + \frac{1+s}{(1-s^2)^2} - \frac{3}{2} \frac{3}{(1-s)^2} + \frac{1}{2} \frac{3}{(1+s)^2} \right\}$

all the poles must cancel !

 $1 + \frac{1}{(1-5)^{2}} + \frac{1+5^{2}}{(1-5^{2})^{2}} - \frac{3}{2} \frac{5}{(1-5)^{2}} + \frac{1}{2} \frac{5}{(1+5)^{2}} = 1 + \frac{1}{(1-5^{2})^{2}} \left[5(1+5)^{2} + 1 + 5^{2} - \frac{3}{2} 5(1+5)^{2} + \frac{1}{2} 5(1-5)^{2} \right]$

$$= 1 + \frac{1}{(1-g^{2})^{2}} \left[\frac{1}{2} g(1-g)^{2} - \frac{1}{2} g(1+g)^{2} + 1 + g^{4} \right] = 1 + \frac{1}{(1-g^{2})^{2}} \left[-2g^{2} + 1 + g^{4} \right] = 1 + 1 = 2$$

$$= \sum_{j=1}^{2} n_{j,2l+3} \left(\frac{-9}{(l-9)^{2}} \right)^{l-8} = \frac{69}{(l-9)^{2}}$$

$$= n_{j,2l+3} (x) = \begin{cases} -6 & \text{if } 3^{-0} \\ 0 & \text{if } 3^{-0} \end{cases}$$

In our topological vertex compatitions, we explaited the fact that if M is a variety with the actim of a torus, then $e(\mathbf{M}) = e(\mathbf{M}^T)$. We also want to use the fact that Euler characteric is protivic : it behaves well under products and stratifications. There is a very nice way of formalizing this Use the Gronthundieck group: Defin The Grothenshieck group & varieties over C is $K_o(Var_c) = free Abelian gravp generated by isomorphism classes$ $<math>\mathcal{B}$ varieties with the relation [v] = [v-2] + [2] if ZeV closed it is a ring under [v] EW] = [V × W]. It has vait 1 = [pt].

e.g. $\chi = Bl_c(\mathbb{R}^3)$ $C \subset \mathbb{R}^3$ a smath curve of going g.



 $E = \mathbb{P}(N_{c/R^3}) \longrightarrow \mathbb{C}$ with films \mathbb{P}^1 so $[E] = [\mathbb{R}^n] \cdot [C]$





$$G_{r}(k, n) = \frac{GL_{n}(c)}{k!} \qquad P \rightarrow GL_{n}(c) \qquad [P]: [GL_{k}]: [GL_{n-k}] \cdot U^{k(n-k)}$$

$$= \frac{K^{\binom{n}{2}}}{k!} \frac{|\mathcal{U}|_{k}}{|\mathcal{U}|_{k}} \qquad G_{r}(k, n)$$

$$[G_{r}(k, n)] = \frac{U^{\binom{n}{2}}[n!]_{k}}{U^{\binom{n}{2}}[n!]_{k}} \frac{U^{\binom{n}{2}}[n-n!]: J_{k}}{|\mathcal{U}|_{k}|_{k}|_{k}} \qquad (\frac{n}{2}) = (\frac{n}{2}) + (\frac{n-k}{2}) + \kappa(n-k) \quad s_{0}$$

$$[G_{r}(k, n)] = \frac{\sum n! J_{k}}{[\kappa!]_{k}} \frac{U^{\binom{n}{2}}[n-n!]: J_{k}}{|\mathcal{U}|_{k}|_{k}|_{k}} = \frac{(U^{\frac{n}{2}-1}) \cdots (U^{\frac{k+l}{2}-1})}{(U^{\frac{n}{2}-1}) \cdots (U^{\frac{k+l}{2}-1})}$$

$$= (\frac{U^{\frac{n}{2}-1}}{(U^{\frac{n}{2}-1})(U^{\frac{n}{2}-1})(U^{\frac{n}{2}-1})} = (U^{\frac{n}{2}-1}) \cdots (U^{\frac{n}{2}-1})$$

$$= (U^{\frac{n}{2}-1}) \cdots (U^{\frac{n}{2}-1}) \cdots (U^{\frac{n}{2}-1}) \cdots (U^{\frac{n}{2}-1})$$

$$= (U^{\frac{n}{2}-1}) (U^{\frac{n}{2}-1}) (U^{\frac{n}{2}-1}) (U^{\frac{n}{2}-1}) (U^{\frac{n}{2}-1}) (U^{\frac{n}{2}-1}) (U^{\frac{n}{2}-1}) (U^{\frac{n}{2}-1}) \cdots (U^{\frac{n}{2}-1})$$

$$= (1 + U^{\frac{n}{2}} + 2U^{\frac{n}{2}} + 2U^{\frac{n}{2}} + 2U^{\frac{n}{2}} + 2U^{\frac{n}{2}} + U^{\frac{n}{2}}$$

$$= (1 + U^{\frac{n}{2}} + 2U^{\frac{n}{2}} + 2U^{\frac{n}{2}} + 2U^{\frac{n}{2}} + 2U^{\frac{n}{2}} + U^{\frac{n}{2}}$$